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INDUSTRIAL MANAGEMENT
fraiha amx : iR e [Aftrepan 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

RNE: () TR AT 8, A R e S Iw AR

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) AP Fo7 & T YT ) FHGR U G 5T FNo |
Solve all parts of a question consecutively together.
(iii) NI J¥ F1 73 98 8 IRE] Ffd |
Start each question on fresh page.
(1v) 3 9N 7 3R 817 ) 1R & st sga = 8 4

Only English version is valid in case of difference in both the languages.

1. () Terarsiie de w1 fom wmmsu |
Draw diagram of Functional organisation.
(i) Hden we v A e feried
Write difference between CPM and PERT.
(iti) Wi Sat srfafrm, 1948 o Hearor daeh w1 Q) waE Rl |
“Write any two provisions regarding welfare in Indian Factory Act, 1948.

(iv) S % YR TR & THR g |

\ Explain type of business on the basis of ownership.
Y (v) SR sreEm % wid & 30wy faflgu |
, Write any two objectives of method study. (2%5)
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2. (i)
(i1)
3. ()
(i)
4. (i)
(i)
5. ()
(i1)
6. (i)
(i)

(20f4) 3202
gl il % #E = ey @ 9r g fafen )
Write any four merits and four demerits of co-operative societies.

T get saraaTies Afawar aussy |

Explain Human relation professional ethics. (8+4)

mmmﬁm%ﬁﬁmﬁéﬂﬁ,wé@ﬁ,mﬁ%mﬁméﬁ%ﬁ
T H FHeAT0] Gaeh HYS Q1 -<) ey afeT |

Write any two-two functions of Human Resources Development Department
related to employment, human relation, wages, labour welfare.

Ffrta SiedTe TmEsd |

Explain non-financial incentives. ' (8+4)

fiferer 3 det o aet uftr, s Tl gerTeTe WO, SRATCY EHETRT |

Explain Earnest money, security money, comparative statement and purchase
order regarding tenders.

YUSR WIATE&! ST THT TEY S5 |

Draw sample format of store ledger. 8+4)

Tes I, TEifa e, YR U, WG 9 GHEET |

Explain bearer cheque, crossed cheque, promissory note and letter of credit.

qcd faufor Hifd (Pricing policy) THHRY |

Explain Pricing policy. (8+4)

sftrer afagfd arffem, 1923%m@m,mm,ag%m

TUE & GHITRY |

Explain total disability, partial disability, penalties for default with reference to
Workmen’s Compensation Act, 1923.

wHg e T < <o wnsse |
Write steps of Time study method. (6+6)
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7.

() e s am (€30 ) w1 g et R |
Derive formulae of Economic Order Quantity (EOQ).
i) 9. e Pt g wred
Explain following terms with reference to CPM :
(@) T
Activity
(b) wwifdsh ay
Critical path
(c) iorem R W e Sferaw il qu

Earliest start time and earliest finish time. (6+6)

= w wftay Rogeft fofgu
Write short notes on following :
() TH TS TH & LA
Applications of MIS
(i) ABC fawawm
ABC Analysis
(i) sty arfafemm, 1961
Apprentices Act, 1961 (4x3)
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